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conservations
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Box chart
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2, 3

logaa =1;     loga1 = 0

log xy = log x + log y;

log 
x
y

 = log x - log y ;
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a b

log xn = n log x, 
Nlogaa  = N
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(100a  +  10b  +  c)
(a, b, c 
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2n, 2n+1

ax x a z

,m n z
(i) am . an = am+n (ii) (am)n = amn

(iii) am/an =am-n  (m-n)  N  (iv)
am.bm = (ab)m  (v)

x2y 

(i) 

 a, b, c 
ax2 +

bx + c, a  0 

.
:

(x + y + z)2 

x2 + y2 + x2+ 2xy + 2yz + 2zx

i

ii

i

ii

iii

2+x 2x, 7x+y 7xy

(a  b)2 = a2  2ab + b2,
a2 – b2 = (a – b) (a + b)
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(x ± y)3 
x3 ± y3 ± 3xy (x ± y)
x3 + y3 + z3 3xyz 
(x + y + z) (x2 + y2 + z2 – xy
yz zx)
x3 +y3 

(x + y)(x2  xy + y2)
x3  y3 

(x  y)(x2 + xy + y2)

(ii) 

x-  y-

x- y-

iii

 ax2+bx+c=0, (a  0).

iv

n n 

n .

iv

x +  a x  +  b
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(i)

i sin2A + cos2A = 1,

(ii)  1 + tan2A = sec2A,
(iii)  cot2A + 1 = cosec2A.

i
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(ii) 

P (x1, y1) Q (x2, y2)

m  :  n
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(Pie dia-
grams)
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(i) 
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